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Appendix A

a
Proof that ay,ay — —3, az > 0
al

Observe that

a; = —ag — K3 — Ky = (k_o + ksies + k_s1e4) + (k1 + k_s51)
+ (kg1 + k_31) >0

since each term is positive. Also,

az = —ap K3 Ky + k31k_s1e4K3 + ks1k_51e3K4
= (k—q + ks1€3 + kg1€4) K3 Ky + ka1k_s1e4 K3 + ksik_51e3K
= k_o K3 Ky + ks1e3 K3 Ky + k3164 K3 Ky + kaih_z1e4 K3 + ks1k_s1e3K,
= k_oK3Ky + ks1es Ky (K3 + k_51) + ka1ea K3(Ky + k_31)
= k_o 3Ky — ks1e3Kyke1 — k314 K3ky >0

since K3, K, < 0. We also have

as

s — P = (a2 K3 + a9 Ky + K3 Ky — ks1k_s1e4 — ks1k_51€3)
1
_ (—a22K3K4 + ksik_zies K5 + k‘slk’—51€3K4>
3]

But since Kg, K4, A9y < 0, then —agK3Ky >0 while

kai1k_si1e4Ks + ks1k_s1e3 K4 < 0.



Further, a; > 0 so we get

a a2 K3 K
as — a_3 > (a2 K3 + an Ky + K3 Ky — kaik_sieq — ksik_sies) + ———+ a3 :
) 1

ag K3 K.
_ (a22K3 + a9 Ky — kg1k_31€4 — k‘51]€_51€3) + <K3K4 + _22a3 4)
1

= —(k_q + ksies + ksieq) (K3 + Ky) — ks1k_s1e4 — ksik_s1€3
+GK, (1 + @>

= —k_o(K3+ K4) — ks1es K3 — ks1es Ky — ks1eqa K3 — ksjes Ky

a
— ks1k_z1e4 — ksik_s1e5 + K3 K,y (1 T — gy — ;?S - K4)
= —k_a(Kg + K4> — k‘5163(K3 + k?—51) - (k5163K4 + k31€4K3)
1
— kgreq(Ky + k_s1) + K3K,4 <1 - K—K4>
1+ ﬁ + P

= —k_o(K3+ Ky) — (ks1ea K5 + ksie3 Ky) + ksikareq + ksikeies

1
+K3K4<1——1+&+£) > 0.

a2 az2



Appendix B

Proof that

b3
bi.bo — —=. by —
].7 617 3

brb,
b1by — b3’

by > 0

Since a,b < 0 and zg > 0, then ay; = aks + bk3 — kixo < 0 and
by =k_1 — (Kl + K5 +Cl11) > 0.
We also have

b4 = —allk_lKlKg — klk_lonlKQ — ak5k_1k_5K2 — bk’gk_ll{_gKl

= —(aks + bk — k1zo)k_1 K1 Ky — k1k_120 K1 Ky — aksk_1k_5K5
— bksk_1k_3K;

= —k_1(ak; K1 Ky + bks K1 Ko + aksk_5 Ky + bksk_3K7)

= —k_1[aks Ko( K1 + k_5) + bhks K1 (Ko + k_3)]

= —k_1(—akske Ky — bksksK7)

= ak_1kskeKs + bk_1ksks Ky > 0,



b2by

since a,b, K1, K> < 0. It remains to show that by, — & and by — Y

b1
both positive. But observe that since a, b, K1, K5 < 0, then

are

by = k1K1 Ky — an K1 K + ank_1 Ky + ank_1 Ky + aksk_1k_5 + bksk_1k_3

— aksk_5Ko — bksk_s Ky + k1k_120 K1 + kik_120 K5

=k 1K1Ky —an (K1 Ky — k1 Ky — k1 K3) + aksk_1k_5 + bksk_1k_3
— aksk_5Ko — bksk_3 K1 + k1k_120K1 + kik_120K5

=k 1K1Ky — (aks + bkg — ko) (K1 Ko — k1 Ky — k_1K3) + aksk_1k_5
+ bksk_1k_3 — aksk_s Ky — bksk_s K1 + kik_1x0K, 4+ k1k_120 K>

=k 1K1Ky — aks K1 Ko + ak_1ks Ky 4 ak_1ks Ky — bks K1 Ko + bk_1ks 4
+ bk_1ksKy + kixog K1 Ky — kik_1x0 Ky — kik_120 Ky + aksk_1k_5
+ bk_1ksk_3 — aksk_5 Ky — bksk_s K1 + kik_ 100K, 4+ k1k_120 K>

=k 1K1Ky — aks Ko( Ky + k_5) + ak_1ks(K1 + k_5) + ak_1ks K3
— bks K1 (Ko + k_3) + bk_1ks Ky + bk_1ks(Ks + k_3) + k1xo K1 K>

= k_1 K1 Ky + akske Ky — ak_1kske + ak_1ks Ky + bksky K1 + bk_1k3 K,
— bk_1ksky + kixg K1 Ky > 0.

Thus, if we can show that b1b2b3 - b?)) - b%b4 > 0, then b3(b1b2 - bg) =
bibabg — b3 > biby > 0 (since by, by > 0) and because by > 0, it must be the
case that biby — b3 > 0. In turn, we will have

and
bfb4 B bi1bobs — b% — b%b4

by — by byby — by
That is, if we can show that bybobs — b2 — b?by > 0, then we are done. The
proof that this is indeed the case is shown in Appendix D.

b3 > 0.



Appendix C
MATLAB Codes

C.1 Characteristic Polynomial of A
Problem: Find the characteristic polynomial in factored form of the matrix

a1 Qk,a 0 k’,g, k',g 0 0 k

1

0
0 929 0 0 0 0 ]{3751 /{?731 0
0 —]{35163 ass 0 2(1]€C 0 asy 0 0
0 —l{?3164 0 Qg4 0 Qbkfb 0 a48 0
A=|—ksa 0 0o 0 K, 0 0 0 0 ((13))
—ksb 0 0 O 0 Ky 0 0 0
0 ]{75163 0 0 0 0 Kg 0 0
0 /{33164 0 0 0 0 0 K4 0
k‘ll'o 0 0 0 0 0 0 0 —/{3_1

Required Matlab Functions: factor and det

Matlab Syntax: A; below is the i'" row of A.



sym=s E3 E4 x0
syms k1 k11 k3 k33 k5 k55 ka kaa k31 k311 k51 k511 kc kb k41 k6l k4 ké

3kll = k {-1}, k33 = k {-3}, k535 = k_{-5}, kaa = k {-a}, k311 = k {-31},
$k511 = k {-51},

syms x all a22 a33 a37 a44 a48 a b K1 E2 H3I H4
Al = [all1, 2*kaa , 0, O , k55, k33 , 0, 0, k11 ]
A2 = [0, a22, 0, O, 0, O, k511, k311 , 0O ]

A3 = [0, -k51%*E3, =a33, 0, 2%kc%a, 0, a37, 0, 0 ]
A4 = [0, -k31*E4, 0, a44, 0, 2*kb*b, 0, a4d48, 0 ]
AS = [-k5%a, 0, O, O, K1, O, O, O, 0 ]

A6 = [-k3*b, 0, O, O, O, B2, O, O, 0 ]

A7 = [0, k51%*E3, O, 0, O, 0, K3, 0, O ]

A8 = [0, k31%*E4, O, 0, O, 0, O, K4, 0 ]

AS = [k1#=x0O, 0, O, O, O, O, 0, O, -K11 ]

A= [ Al; B2; A3 ; Rh4; AS5; A6; BT; RAB; R9]

P = factor(det (& - x*eve (9)))

Matlab Output:

P=—(1—as)(z — au) [\’ + (—apn — Kz — K)N + (a22K3 + ag Ky
+ K3Ky — ks1k_sieq — ks1k_s1€3)\ — a0 K3 Ky + ksi1k_s1e4K5
+ ksik_sies Ky M + (koy — Ky — Ko — a;)N + (an Ky + ay K
— k1K, — k_ Ky —apk i + K1 Ky + aksk_5 + bksk_3 — kik_120)\?
+ (k1 KG Ko — ann Ky Ko + ank 1 Ky + apnk_1 Ky + aksk_1k_s + bksk_1k_3
— aksk_5Ky — bksk_3K1 + kik_120 K7 + kik_120Ko) A — apnk 1 K1 Ko
— kik_ 120K Ky — aksk_1k_5 Ky — bksk_1k_3K7]

C.2 Expanded form of 616503 — b% — biby
Problem: Find the expanded polynomial b;bybs — b3 — b3b, where

by =k — K, — Ky —an
bo =a1 K1 +a1 Ky — k1K) — k_ 1Ky —apk_1 + K1 Ko + aksk_5 + bksk_3 — k1k_q1xq
by = (k1K1 Ky — ann K1 K + ank 1 Ky + ank_1 Ky + aksk_1k_5 + bksk_1k_3
— aksk_5 Ky — bksk_3 K1 + kik_1200 K + ki1k_120K>)
by = —ank 1K1Ky — kik_1xo K1 Ky — aksk_1k_5 Ko — bksk_1k_3K;



where

a;p = ak5 + bk‘g - ]{311‘0
K1 = _(kﬁ + k_5)
Ky = — (ks + k_s)

Required Matlab Functions: sub and expand

Matlab Syntax:

sym=s E3 E4 x0
syms k1 k11 k3 k33 k5 k55 ka kaa k31 k311 k51 k511 kc kb k41 k6l k4 ké
3kll = k {-1}, k33 = k {-3}, k535 = k_{-5}, kaa = k {-a}, k311 = k {-31},
$k511 = k {-51},
syms x all a22 a33 a37 a44 a48 a b K1 E2 H3I H4
bl = (kK11 - K2 - all - El)
b2 = (Kl%all + K2%all - K1*kll - K2%k11 - all*kll + HI1*E2 + a*k5%k55
+ b*k3%k33 - kl1*kl11*=0)
b3 = (K1*K2*k1l - K1*K2%all + Kl*all*kll + K2*all*kll
+ a®*k5*k11%*k55 +b*k3*kl1l1*k3+ b*k3*kl1l1*k33 - HK2#%a*k5*k55
- K1*b*k3*%k33 + El*kl1*k11%*x0 + E2*%k1*kl11*x0)
b4 = - Kl*E2*%all*kl]l - EK1*E2*kl1*kl11*x0 - EK2#%a*k5*kll1*k55 - El*b*k3*kl11%*k33
%all = a*k5 + b*k3 - kl1#*x0
%K1 = -k& - k55
K2 = -k4 - k33

R = bl*b2*b3 - b3"~2 - bl"~2*b4

5 = subs (subs (subs (R,a2ll,a*k5+b*k3-k1*x0) ,K1,-k6-k55) ,K2,-k4-k33)
T = expand(5)

Fpretty (T)

Matlab Output: The output is presented in the next section.



Appendix D

Proof that bjbobs — b3 — bsby > 0

From A.2., we have

bibobs — b2 — b3by = kyk2k> | + kakph? | + K2kek® | + k2kSk_y + k3kek?
+ kikgk oy + kek® k% 5 + kek® (K2 5 + kgh_1k> 4
+ kgk® (ks + kgk_1k® 5 + K3k ks + kyk? K2
+ k4k31k335 + kik—1k¢i5 + k‘ik‘ilk—5 + kik_1k35
+ Kk ks + kK2 kD S+ ko kP gk s+ k2 ke gkt
+ K2 k2 skos + K2 k_gk? 5 4+ K2 k2 gk_s + 2k3kGK?
+ 2k2K2 K2 4 2K2K2 K + 2K2 K2 K+ aPhyk2ED
+ a?kik2 ks — a’kykikE — aPk3kEke + a’ k2K
+ a?k3k2k_y — a®kyk3k? | — aPR2RSk 1 + a®kEkek? |
+ @’ K2k — P kEkek? | — APRER2k_ ) + a’K2kek?
+ a?k2k3k_s — a®kikek? 5 — aPk3kZk_s + a*kEk_ K3,
+ k2K ks — aPk3k K2, — aPRER? ks + bPR2ky K]
+ V2 kikike — bPkikakd — D3RSk ke + D2 k2 kak? |
+ VK23 ) — bPESkak? | — VPRIE2 k) 4 VP k2 kek?
+ V23K — BPhikek? | — D3 RSKZEk_1 + VP R2kaK?
+ V2 kikik s — bPkikyk? 5 — bPkikik s + X k3k_ kP
+ VP R2E3 ks — VPR3 K? o — VPR3E?  k_s + K2 kgkia?
+ K2k kga? + kS kakdad + B2 kexd + K2 keh® 422
+ kTk§k_sxp + kikek? sxy + K kgk_sx + kikak® ;o



+ K2k k_sa? + kS kak? o xd 4 KPRk _sap + K2 k_sk?

+ K2KS gk sxd + Kk _sk® x) + kYK sk _sxp + 2kakek® (kg + 2kykik 1k 3
+ 2kykek® [k s 4 2k3kek_1k_5 + 2kak_1k_sk® 5 + 2Kk K _sk_s

+ 2kgk_ k3 gk s 4 2kek® [ k_sk_5 + 20°k2k2k2 + 2a°K2R2K? | 4 207 kER2K2
+ 202 k2REK2 5 + 2P K2R kP 5 + 20°K2K3RE 4 207 k3kAK2 | 4 207 k3K2K?

+ 202 R2K2E2 4 207 k2K2 (kP + 2Kk el + 2kIK2R? pak 4 2K k2K 4

+ 2k2K2 k2 sl — ak2kskp — akBksk? — ak2ksk? | — aklksk? | — aksk2E?,
— akskik? | — aksk2k® 5 — aksk3k? 5 — aksk® (k35 — aksk® (k25 — bksk2k}
— bksk3kZ — bksk2k® | — bhskik? | — bhskik® | — bhskik? | — bhskik®

— bkakik? 5 — bksk? (k> 5 — bkak® |k 5 + 3kakek? 1 k2 5 + 3kakih_1k>,

+ AkykZk2 kg + 3k2kek® (ks + 3k3kZk_1k_3 + Skakek® k% 5 + Skak2k* ks
+ 3kikek_1k? 5 + 4kikek® | k_5 + 3kikgk_1k_5 + 3kak_1 k> 3k>

+ dkyk?  k_sk? o 4 3kyk®  K? gk s + 3Kk 1k sk + 3Kk k_3k_5

+ Bkek_1 k2 k% 5 4 Skek® k_sk® 5 4+ dkek® k2 3k 5 + 3k2k_1k* ok s

+ 3k2k2 k_sk_5 + k k2 kS xo 4 ki kS kZao + ki k2K g0 + ki kpk? sxg

+ ki K2R3 o + Ry kSE2 swo + ki k? kP smo + ki kP ok s 1o — dakyksk2E?

— dakZkskek? | — 4ak2kskik_y — 2a3kak3kek 1 — 3akiksk2k® 5 — 3akikskik_s
— 203 kykikek_s — 3aksksk® k* 5 — 3ak2ksk® (k_s — dakskek® (K%,

— daksk2k_1k? 5 — dakskik? k_s — 203 kak3k_1k_5 — 2a°k3kek_1k_s

— ak3kskek® 5 — 2ak3kskik_s — 3aksksk® | k* 5 — 3akiksk_ ik,

— dak?ksk® [k_s — akskek® | k? 5 — 2aksk2k? (k_5 — akskek® 3k*

— 2aksk2k? ks — 3aksk_k* k% — 3aksk® (k_sk®y — daksk®  k* 5k s

— Abkskykik? | — Abkskikek? | — 4bkskikik_ — 2b°k3kakek 1

— Dhgkyk2k? 5 — 2bksk2k2k_s — bkskyk® | k? 5 — 2bksk2k? | k_3

— 3bkskek?® k%, — 3bkskik_1k? 5 — Abksk2k? k_s — 3bksk2kek®

— 3bkskikZk_5 — 20%k3kykek_s — Abkskyk® K 5 — dbkskik k%5

— 4bksk3k? k_5 — 3bkskek® |k 5 — 3bksk2k? k_5 — 20%k3kak_1k_s

— 2% k3kek_1k_5 — Dhskyk® 3k 5 — 20ksk2k_sk* 5 — 3bksk_1k* k%,

— 4Abksk? [k_3k? 5 — 3bksk® (k* 3k_s + 3kikskik® xo + 3kikikek?  x0

+ dky kFkgk 1o + 3kikakgk? svo + 3kikikgk_axo + 2K kakek sz}

+ 3kikek? k% 30 + dkikgk_1k* 320 + 3kikgk® (k_sz0 + 3ki ki kek® 510
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+ 3k k2k2k_sm0 + 2k kakek_sxd 4+ 3kikak? (k2 sxo 4 4k k2 k_1 k2 510

+ 3k kK2 1 k_smo + 3kikak? 3k% sx0 + 3kikik_ak® sxo + 3kikek? 5k% 520
+ ki kgk? sk_smo + 2k kak_sk_ sz + 2k kek_sk_sxy + 4kik_1k? 3k* sz
+ 3k k2 k_sk? g0 + 3k k2 K2 ok sz + 4a®kyk2kek? | + 4aPkykEkik
+ 40k k2 kek_1 + 3akykikek? 5 + 4aPkak2k2k_s + 3a’k2kEkek_s

+ 3akykik 1 k% 5 + 4aPkakZK? k3 + 3a’kikZk 1k 3 + 4a’kikek_ k2,
+ 402 k2kek? k_s + 4 K2k k_ 1 k_s + a®kyk2k2k_5 4 20° k2K kek_s

+ 3a°kakZk?  k_s + 3a*kikZk 1k 5 + 2a*kikek® (k_s + a’kikik_1k_s

+ 2a*kZkek? sk_s + a’kZkgk_sk_s + 3a*kZk_1k* sk _s5 + 3a’k2k? 1 k_sk_s
+ 462 k2 kykek?® | + AV k2ky k2 + AVPKEER Kk + 267 k2K, k2K s

+ V2 k2k2kek_s + 20%k2kak? (ks + bPREkIk (k3 + 307 k2kek® ks

+ 30k kgk_1k_3 + 3b°k3kakek® 5 + 3b°k3kakgk_5 + 4b°k3 k3 kek_s

+ 4b%k3kak k% 5 + AV kS kak? (k5 + A0*KSKTk 1 k_5 + 3b°k3kek_1k?

+ 4b%k3kek? 1 ks + 30°k3kgk_1k_s + 20°k3kak_sk? 5 + b2 k3kik_sk_s

+ 3b%k3k_1k_3k? 5 + 3b%k3k?  k_sk_s5 + 3kikakik_1xf + 3kikikek 1 xf
+ 3kikakok? 35 + Ak kakik_sxd + 3kikikek_sxf + 3kikek_1k? 327

+ 3kikgk 1k _sxd + 3kTkakek? sxd + 3k kakgh_sxd + Ak K kek_sx]

+ 3k2kyk_ 1 k2 sxl 4 3Kk k1 k_sad + Ak kyk_sk? s2? + 3K2kyk? ok _s2?
+ 3kIkik_sk_sx2 + 3k kek_sk® 53 + Ak kek? sk _sxd + 3kTkik_sk_sxl
+ 3k2k_1k_sk® w2 + 3K2k_1k* sk_sad — 2akskskek® | — 2akskskik

— 2ak3kskek_1 — 2akskskik_s — 2aksksk® k_s — 2akskek_ k>

— 2akskek® k_s — 2akskik_1k_s — ak3kskek_s — 2akqksk® [k_s

— 2ak3ksk_1k_5 — akskek® (k_s — akskek® 3k_5 — 2aksk_1k> 3k _5

— 2aksk® k_sk_5 — 2bkskykehk® | — 2bkskakpk_| — 2bksk kek_,

— bhskykik_s — Dhshksk®  k_3 — 20kskek® | k_3 — 20kskik_1k_3

— 2bkskikek_5 — 2bkskyk 1 k> 5 — 2bkskyk® k5 — 2bkskik 1k s

— bkskek® (k_5 — bkskak_sk® 5 — 20ksk_1k_sk® 5 — 20ksk® | k_sk_s

+ 6kykok_1k_sk? 5 + Okskok_1k> 3k_5 + Skakek? 1 k_sk_s5 + 6kakih_1k_sk_s
+ 6k2kek_1k_sk_5 + 2k kskik_120 + 2k k3 kek_ 120 + 2k kakik_s20

+ 2kykek_1 k> sx0 + 2k1 K3k 1 k_sz0 + 2k1 ki Kk 530 + 2k kak_1 k> 520
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+ 2k K3k 1 k_sxo 4 2k kak_sk® sxo + 2k ke sk _s20 + 2k1k_1k_sk® s

+ 2k k1K sk _sz0 — 3akikakskizy — 3akikikskexd + 3a*kikikikixg

+ 3a’kikjkikero — akikiksk_ 133 + a’kikakZk?  mo + 2a° k1 Kk k120

— akikskik _1x) + a’kik2kek?® \x0 + 20k k2kik 3o — 3akikskek® 3a0

— 3akikskik_sx] + 3a°kikZkek? 300 + 3aPkikikik_szo — akiksk_ 1k23x0

+ 2a°k1 K2k 1 K? 50 + o’k k2k2  k_s3mo — ak k4k;5k;25a:0 20kik2ksk_sxl

+ CLQk‘lkik?gk_g)l‘O — akfl%k 3k25x0 2ak2k5k_3l€ 5m0 + a2k‘1k k2 sk_5x

— 3bk2kskakia?l — 30k ksk2kgx? 4+ 307 ki k2kakixo + 3b2k:1k:2k;4k6x0

— bk kskik_1af + b2k k3kak? 120 + 20° k1 k3 kik 120 — bkTkskgh -1 x

+ 2k k2 kok? (w0 + 207k k2 K2 k120 — bkfk:gkﬁk?gxo k2 ksk2k_s?

+ 02k k2 k2K _swo — 3Dk kskak?® sxl — 30k kskik_sad + 302k k2kak? 510

+ 30°k1 k3kik_szo — BT ksk_1k? sad 4 207k k3 k1 k2 520 + b2k k3 k2 k_s 20

— 2bk2ksk_sk? sx2 — Dk ksk® sk_sal + U2k k2k_sk?® sxo + 2abkskykskd

+ 2abkskikske + 2abkskyksk® | + 2abkskiksk_1 + 2abkskskek® | + 2abkskskik_
+ abkskskik_s + abksksk® k_s + abkskiksk_s + abksksk® [ k_s

— Gakykskek_1k* 5 — Sakskskek?® (k_3 — Sakskskik_1k_s3 — 6ak3kskek_1k_3

— 2akykskek_1k*s — Takskskeh® k_s — dakakskik 1k 5 — Tak2kskek_1k_s

— 2akykskek_sk* s — 3akskskek?® sk_5 — dakskskik_sk_s — 3ak3kskek_sk_s

— Gakyksk_1k_sk?5 — 6aksksk_1k* 3k 5 — Sakyksk® | k_sk_s5 — 6ak3ksk_1k_sk_s
— 2akskek_1k_sk? 5 — Takskek_1k*3k_5 — Takskek® | k_sk_s — daksk2k_1k_sk_s
— 2bkskykek_1k? 5 — Thhskykeh? k_3 — Tbksksk2k_1k_5 — 4bksk2kek_1k_3

— Gbkskykek_1k* 5 — Sbkskakeh® k_5 — 6bkskskik_1k_s — Sbkskikek _1k_s

— 3bkskykek_sk® 5 — 2bkskykek® sk_5 — 3bkskykik_sk_5 — 4bkskikek_sk_s

— Tbkskyk_1k_sk? 5 — 20kskyk_1k* 3k 5 — Tbksksk® | k_sk_s — 4bksk2k_1k_sk_s

— Gbkskek_1k_sk? 5 — 6bkskek_1k? 3k_5 — Sbkskek® | k_sk_5 — 6bksk2k_1k_sk_s

— 2ak1k4k5k‘§’a§0 — Qaklki’k‘g,kgxo - ak:lki’k:g,k_lxg — aklkg,krg’k:_wo

— 2ak1k5k6k33x0 — 2ak;1k;5kg’k;_3x0 — ak1k5]€_1ki3xg — aklkil%k:_g,xo

— akyksk® 3k _sxo — 2bk1 kskykizo — 2bk 1 kskkero — bkykskik_1x

— by kskik_1mo — bkykskik_sxzo — 2bky kskyk® sx0 — 20k1 ksk3k_sx0

— bkiksk_1k® ;1 — bkiksk_sk® sx0 + 6k kakok_1k> yx0 + 6kikakek®  k_3o
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+ 8k kykZk_1k_sxo + 6k k2kek_1k_sxo + 6kikakek_1k* s + 6kikakek?  k_sx0
+ 6kykakgk_1k_s5x0 + 8k1kikek_1k_sx0 + 6kikakek_sk? sx0 + 6k1kakek? k570
+ 6kykskgk_sk_sxo + 6k1kikek_sk_sxo + 8kikak_1k_sk? sx0 + Okikak_1k? 3k_sx0
+ 6k kyk? (k_sk_sxo + 6k k2k_1k_sk_sxo 4 6k kek_1k_sk® sxq

+ 8k kok_1k* 3k 510 + 6k1kek® | k_sk_szo + 6ki1kik_1k_3k_szo + dabkskikskg
+ dabkskiksk? | + dabkskskgk? | + 2abkskskgk? 5 + 2abksksk® k2,

+ 2abksk2ksk? s + 2abksksk? |k 5 + 8a*kak2kek_1k_s + 4a*kyk2kek_1k_s

+ 4a®kykikek_sk_s + 6akykik_1k_sk_5 + 4a’k2kek_1k_sk_5 + 4% k2 kykek_1k_s
+ 80 k3 kykok_1k_5 + 4b%kikskek_sk_s + 4b%kakak_1k_sk_s 4+ 60> k3 kek_1k_sk_s
— 4ak1k2k5k§x0 — Qaklkzkg,kglxo — 2@]{;1]{5]@%]@31% — 4ak1k5k§kz3x0

— 2ak1ksk® (k2 500 — 2ak1kiksk® sv0 — 2aki1ksk® sk? sv0 — 4bk1kskikixg

— 2bk1 kskik? w0 — 2bk1 kskik? w0 — 2bk1 kskik? sx0 — bk kskik? sx0

— 2bk1ksk? k% gvo — 20k kak? 3k smo + 6k kakek_1k_sxg + 6kikakek_1k_sx

+ 8kikakek_sk_sxf + 6kTkak 1k _sk_sxf + 6kikek_1k_sk_szg — 3ab’k3kaksk]

— 3ab*k2k2kske — 3abkskyk2k2 — 3abksk2k2ke — 3ab k2 kyksk?

— 3ab?*k2k2ksk_ — 3a’bkskskik? | — 3a’bhsk2kik_1 — 3ab®kikskek?,

— 3ab?*k2ksk2k_y — 3a’bkskZkek? | — 3a’bksk2kik_1 — ab®k2ksk2k_s

— aPbksk2kek? y — 20°bksk2k2k_g — ab’kiksk® [k_s — a’bksk2k_ k>,

— 20%bksk2k? | k_3 — ab®k2kaksk® s — 2ab*k2k2ksk_s — a®bksk2k2k_s

— ab®kiksk_1k* 5 — 2ab*k3ksk® | k_s5 — a®bkskik? k_s — 2ak?kykskek_1 27

+ 4a2k1k4k§k6k_1x0 — 6ak‘fl€4k5k‘6k’_3x3 + 6a2/€1k4k‘§k‘6k_3m0

— 2akZkyksk_1k_sxl + 40k kykik 1 k_swo — 2akikskek_k_sal

+ 40’k k2 kk_1k_sxo — 4ak?kakskek_sxl 4 2a° k1 kykZkek_s20

— Qak%k4k5k_1k_5x(2) + 2a2k1k4k§k_1k_5x0 — ak%k5k6k_1k_5x(2)

+ a?ky k2 kek_1k_swo — dak?kaksk_sk_sx? 4 2a*k kyk2k_sk_sx¢

— 4ak%k5k6k_3k:_5a:(2) + 2a2k1k§k6k:_3k_5:vo - 2&]{7%]{751{3_1]{'_3]6_527(2)

+ 202k k2 k_sk_sxo — 20k2kskykek_ 122 + 4%k, k2kakek_ 2

— 4bk2 kskykek_sxl 4 207k k2kykek_sxo — Dk kskak_k_sa?

+ D2k k2 kak 1 k_sxg — 20k kakek_1k_sx? + 20 k1 k2 kgk_1k_sxg

— 6bkZkskykek szl + 6b%kyk2kykek_sxo — 20kikskyk_1k_sa?
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+ 4Pk k2kyk_ k_sx0 — 20k kskek_1k_sx? + 4%k k2kek_ 1 k_sxo

— 4bk?kskyk_sk_sxl 4 207k kikak_sk_szo — 4bkikskek sk szl

+ 20% k1 k2 kek_sk_sxo — 20k ksk_1k_sk_sx2 + 202k k2k_1k_sk_szo*

— 1dakykskek_1k_sk_5 — 14bkskykek_1k_sk_s 4+ 16k kykek_1k_sk_szq

+ 8abksk,kskek?® | + Sabkskikskak_y + 8abkskikskek 1 + 2abkskikskek? ,

+ 6abkskakskik_s + dabkskikskek_3 + 2abkskaksk_1k? 5 + 6abksksksk? | k_3

+ dabkskiksk_1k_s + 4abkskskek_1k* 5 4 Tabkskskek? \k_s + Tabksksk2k_1k_s
+ 2abkskykskek? s + 4abkskyksk2k_s + 6abkskikskek_s + dabksksksk_1k*

+ Tabksksksk?  k_s5 + Tabkskiksk_1k_5 + 2abkskskek_1k* 5 + 6abkskskek? | k_5
+ dabksksk2k_1k_s + 2abkskyksk_sk* s + abkskyksk® sk_5 4 2abksk2ksk_sk_s
+ abkskskek_sk? 5 + 2abkskskek® sk_5 + 2abksksk2k_sk_s + dabksksk_1k_sk?
+ dabksksk_1k? sk_5 + 6abksksk? | k_sk_s — 4ak, kskskek® 20

— 7ak1k4k5k§k_1x0 — 7ak1kik5k6k_1x0 — 6ak1k4k5k6k33x0

— 8ak1k4k5k§k,3xo — 6ak1kik5k6k,3xo — 3ak1k4k5k,1k33x0

— 4ak1k:4k:5k531k_3x0 — 3ak1kik5k_1k:_3x0 — 7ak1k5k36k‘_1k%3x0

— 4ak1k5k6k31k_3x0 — 7ak1k5k§k_1k;_3xo — 2ak1k4k5k6k35x0

— 4ak1k4k5k§k,5xo — 6ak1kik5k6k,5xo — 4ak1k4k5k,1k35x0

— 4ak:1k4k:5k331k’_5x0 — Gaklkil%k_lk_wo — aklk‘5k6k_1k£5mo

— 2ak1k5k6k31k_5x0 — 2ak1k5k§k_1k;_5xo — 4ak1k4k5k_3k%5xo

— 3akikaksk? 3k_szo — 3akikiksk_sk_sro — 2ak kskek_sk® 520

— 6ak1k5k6k333k_5$0 — 4ak‘1k‘5k’gk_3k_5xo — 4ak1k5k_1k;_3k35m0

— Gakiksk_1k* sk _sxo — dakiksk®  k_sk_sxo — 4bky kskykek® 110

— Tk kskykk_ 1m0 — Tk ksk3kek_120 — 20k kskykek? y20 — 6bki kskykk 3o
— Abk1 ksk2kek_sxo — bkykskak_1k* 300 — 20k kskak? | k_sxq

— bk ksk2k_1k_sxg — 4bkikskek_1k? 310 — 4bkikskek? | k_sxq

— 6bky ksk2k_1k_sxo — 6bkikskykek? s — 6bkikskskZk_sx0

— 8bky ksk2kek_swo — Thkiksksk 1k s — 4bkikskyk® | k_5w0

— Thkyksk2k_1k_sxo — 3bkikskek_1k® w0 — 4bkikskek? | k_sxq

— 3bkyksk2k_1k_sxo — 6bkiksksk_sk® sm0 — 2bk1ksksk? 3k _sx0

— 4bky ksk2k_sk_sxo — 3bkikskek_sk?® s — 4bkikskek® 3k 570
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— 3bkyksk2k_sk_sxo — 6bkiksk_1k_sk®swo — 4bkiksk_1k? 3k_sx0

— 4bkyksk® | k_sk_szo — 6ab’kakskskek_y — 6a°bhskykZkek

— 2ab%k2kykskek_s — 4a*bkskyk2kek_s — 2ab?k2kyksk_1k_s

— 4a®bkskykik_1k_s — 2ab*k2kskek_1k_s — 4a’bkskikek_1k_s

— 4ab?k2kykskek_s5 — 2a2bkskykikek_s5 — 4ab®k2kyksk_1k_s

— 2a%bkskakik_1k_5 — 4ab®k2kskek_1k_s — 2a°bkskkek_1k_s

— ab®k2kyksk_sk_5 — a’bkskykik_sk_s5 — ab®k2kskek_sk_s

— a®bhskZkek_sk_s — 2ab*k2ksk_1k_sk_5 — 2abksk2k_1k_sk_s

+ 6abky kskskskizg + 6abkikskikskezo + 2abkikskyksk? o

+ dabky ksk2ksk_ 10 + 2abk kskskek? 20 + 4abkiksksk2k_xg

+ 2abky kskskek? sz + dabkiksksk2k_sxq + abky ksksk_1k* 320

+ abkiksksk? | k_sxo + 2abky kskyksk? sxo + 4abkiksk2ksk_sxo

+ abkyksksk_1 k2 sxo + abkiksksk® | k_sx0 + abkiksksk_sk® 7

+ abkiksksk? sk_sxo + 12abkskskskek_1k_s + 12abkskskskek_1k_s

+ 8abkskskskek_sk_5 + 11abksksksk_1k_sk_s + 11abkskskek_1k_sk_s

— ldakikakskek_1k_szo — 1lakikakskek_1k_sxo — 12ak kakskek_sk_sxo
— 12akikyksk_1k_sk_sxo — 1lakikskek_1k_sk_sxq — 110k kskskek_1k_sxq
— 14bky kskykek_1k_sxo — 12bk1 kskskek_sk_szo — 11bkiksksk_1k_sk_sxo
— 12bky kskgk_1k_sk_sxo + Sabkikskykskek_12o + S8abk, kskykskek_sxg
+ babky ksksksk_1k_sxo + 6abkikskskek_1k_sxo + 8abky kskskskek_sz0
+ 6abky kskyksk_1k_sxo + Sabki kskskek_1k_sxo + Sabkyksksksk_sk_sq
+ 5abky kskskek_sk_szo + 6abkiksksk_1k_sk_ sz

Since a,b < 0 and all the other variables are positive, bybybs — b3 — b?by > 0.
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